E:L Identifying Y Intercept (Graphs) Name:
Answers

DeterminetheY intercept of each graph.
. Yad [
r~/\l C
1 f
’jl I 2.
prat |
ST [
— 5 O 3.
T I
II 4
I/
) S
I
1 5
[
II
Y=X+9 Y=6xX-5 6.
3 [/
)id |
(/ |
? i
/ &
? I
/ I
4 |
I |
/ |
p 4
) § p
/ 7
4
I |
/ |
A |
Y =2xX+(X-4) Y =9xX-(X-3)
5) ;1( 6)
/
4
71
/
0 £
/ P
X ,fﬁ_
X pvad
/ pVad
4 pvat
I pVad
/ pvat
4 pVad
)id ) Vad
/ pvat
4 pvat
I padl
Y =3xX Y =X+(7x-1)
1-6 |83]67]50(33[17] 0 |

M at h www.CommonCoreSheets.com 8f2



Name. Answer Key

ﬂh Identifying Y Intercept (Graphs)
DeterminetheY intercept of each graph. Answers
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